
Erafsommen tot 50.000

Oefening 1

1. 20.057 - 12.869 =   

2. 48.374 - 17.936 =   

3. 41.671 - 12.375 =   

4. 48.043 - 42.198 =   

5. 48.699 - 10.260 =   

6. 49.324 - 20.625 =   

7. 42.103 - 39.818 =   

8. 48.341 - 19.047 =   

9. 18.618 - 11.966 =   

10. 46.345 - 22.307 =   

Oefening 2

1. 13.341 - 10.386 =   

2. 45.294 - 35.652 =   

3. 47.376 - 11.976 =   

4. 31.264 - 16.635 =   

5. 34.158 - 28.822 =   

6. 44.560 - 21.969 =   

7. 43.285 - 14.600 =   

8. 47.957 - 21.514 =   

9. 41.475 - 41.129 =   

10. 14.826 - 13.756 =   

Oefening 3

1. 28.419 - 19.068 =   

2. 20.788 - 5.172 =   

3. 43.359 - 30.503 =   

4. 44.249 - 22.668 =   

5. 44.784 - 20.283 =   

6. 27.279 - 15.063 =   

7. 48.740 - 42.353 =   

8. 20.622 - 17.558 =   

9. 47.092 - 40.539 =   

10. 27.576 - 7.305 =   

Oefening 4

1. 33.009 - 32.846 =   

2. 37.375 - 12.898 =   

3. 45.054 - 37.969 =   

4. 46.790 - 14.488 =   

5. 46.885 - 42.459 =   

6. 18.984 - 9.973 =   

7. 45.747 - 16.156 =   

8. 18.457 - 17.030 =   

9. 48.435 - 46.844 =   

10. 29.071 - 8.930 =   
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Oefening 1

1. 20.057 - 12.869 =  7.188

2. 48.374 - 17.936 =  30.438

3. 41.671 - 12.375 =  29.296

4. 48.043 - 42.198 =  5.845

5. 48.699 - 10.260 =  38.439

6. 49.324 - 20.625 =  28.699

7. 42.103 - 39.818 =  2.285

8. 48.341 - 19.047 =  29.294

9. 18.618 - 11.966 =  6.652

10. 46.345 - 22.307 =  24.038

Oefening 2

1. 13.341 - 10.386 =  2.955

2. 45.294 - 35.652 =  9.642

3. 47.376 - 11.976 =  35.400

4. 31.264 - 16.635 =  14.629

5. 34.158 - 28.822 =  5.336

6. 44.560 - 21.969 =  22.591

7. 43.285 - 14.600 =  28.685

8. 47.957 - 21.514 =  26.443

9. 41.475 - 41.129 =  346

10. 14.826 - 13.756 =  1.070

Oefening 3

1. 28.419 - 19.068 =  9.351

2. 20.788 - 5.172 =  15.616

3. 43.359 - 30.503 =  12.856

4. 44.249 - 22.668 =  21.581

5. 44.784 - 20.283 =  24.501

6. 27.279 - 15.063 =  12.216

7. 48.740 - 42.353 =  6.387

8. 20.622 - 17.558 =  3.064

9. 47.092 - 40.539 =  6.553

10. 27.576 - 7.305 =  20.271

Oefening 4

1. 33.009 - 32.846 =  163

2. 37.375 - 12.898 =  24.477

3. 45.054 - 37.969 =  7.085

4. 46.790 - 14.488 =  32.302

5. 46.885 - 42.459 =  4.426

6. 18.984 - 9.973 =  9.011

7. 45.747 - 16.156 =  29.591

8. 18.457 - 17.030 =  1.427

9. 48.435 - 46.844 =  1.591

10. 29.071 - 8.930 =  20.141
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